EARAROBEEIERT — 2 N— IBISH —F

201753850 (H) 22M@11A&E6H

mC2—4 148 C2 ¥5%4m L ‘(ﬂi}% ‘[%iﬂ%Fsﬁ] — | 4 (@) 130M B
[AE£] 1% :110,000"  23%&:2500M”  33%&:10,000 M  43%&:6,000 3 ~ 53 :3,000H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N — s fE #3125 :25. 44~ . — ABFR (£8)
1 2 JRYTSH 4 4 N 1(2_5)9 4-4-4-4 | 39.2 4 (4_727) s "
R:Tv IRy v B:32-Yyo77— HE77—»4L
= s REE_ :26. -1-1- X - FlEE (1£8)
2 3 F LTI —— 4 4 i 1(216)1 1-1-1-1 | 39.9 5 (4;1) gﬁ;@ =1
L:€r/0704 B:FLITRITH ESliEe
°__ g 4 6 | HFEA 1:26.4 8-8-7-5 |39.2| — 9 456 | WAFEA (£H)
3|g|o|7TLTLR—2 56.0 (1172) o | BEEE
:d—=IRT7Ya—b B:XA4oayvxNa EEicke]
. . 4 4 | REEC 1:26.7 6-6-8-8 |39.6 | — 8 436 | REE (£H)
4|5]5 XAZH/N KON 54.0 (11/2) (+2) TIIIER
LY LSAN—F B:AAIVFE B #B2
. 4t ¢ | SHIEA 1:26.7 5-5-6-7 |39.8| — 3 467 | KiEBEEK (ER)
5l7lg| V2452 5.0 (AF) 43 | EREE
RLi—ibA7Oo— B:iAroz—* B2y N
. 2 7 | BERD 1:26.7 7-7-3-3 | 40.2| — 1 474 | BARBE (£H)
6|7|7|FTHPIVAE— “ 0 5.0 (1) o | @3 P N#H
R:HYISTLIFL b BiF—UyT%vy b YF 5 745
PN, A 4 6 | HFHE 1:27.3 3-3-5-6 | 40.5| — 10 M5 | REE (£8)
71810/ F>>¥>7V 7147 54.0 @ ) | @ J P NHH
L: 23— bR—o B4 rFEID 552 R
— s 5 | JISH 1:27.3 2-2-2-2 | 40.9| — 2 442 | LIHER (ER)
s 6| ¥V -7« 54.0 (A o |EHE
RixLIAMO— B:U—LELL Shall Farm
553 4 5 | AllEF 1:27.5 10-10-10-10| 39.3 | — 7 M4 | RIEX (EE)
o4 77— 54.0 M G |HE-E
LANTNGZ B RIS TSA b SH FH
I E B M4 | MAER 1:27.8 9-9-9-9 |40.0| — 6 469 | ERE (1£R)
10/1]1|F>7*>5209 _ 6.0 (1 172) oy |
LihrnN=Z— AR w7 B A5
® 1—F—@EBIERL
1T=7r= 3,6,10,2,8,5,7,9,1,4
2a=5F= 3,6,10,2,8,5,7,9,1,4
Ja=5= 3,6,7,2,10,8,9,5,1,4
43—+ — 3,6,7,2,9,10,8,5,1,4
[ /N
B 2 480M 714K 2-3 1,550 e E 2-3 4,680 JEE 2-3-9 39,360
B B 2 240H 2-9 1,640H B = 2= 3,690 JEE 2-3-9 160,540
3 810H 3-9 4,950 B H 2-3 6,220
9 820M

ABICOVWTRDTEEERROODE. TR LIV,




